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Ⅰ 注意事項 

   １．問題冊子は、試験開始の合図があるまで開いてはいけません。 

２．解答用紙の解答科目欄に「英語」と記入・マークしてから解答してください。 

   ３．問題は 1 ページから 11 ページまであります。 

   ４．問題は持ち帰ってもよいですが、コピーして配布・使用することは法律で禁じられています。 

 

 

Ⅱ 解答上の注意 

   解答用紙は、マーク式解答用紙と記述式解答用紙の 2 種類があります。マーク式の問題で、「解

答番号は 10 」と表示のある問いに対して④と解答する場合は、下記の例のようにマークしてく

ださい。記述式の問題には「解答は 記述式解答用紙 」と表示がありますので、記述式の解答用紙

に記入してください。 

 

 

 

 

 

 

 

 

 

（例）  

解答番号 解  答  欄 

10 ① ② ③ ● ⑤ ⑥ ⑦ ⑧ ⑨ ⓪ 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題は次のページからです。 
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問題Ⅰ 次の問１～１０において、英単語の意味として正しいものを①～④の中から一つずつ

選べ。ただし、④は正解が①、②、③のどれでもない場合の解答となる。  

解答番号は   1  ～   10   

 

 

問１ bill  1   

 

①  領収書    ②  請求書     ③  建物    ④  左のどれでもない  

 

問２ convert  2   

 

①  指揮する   ②  演奏する    ③  転換する  ④  左のどれでもない  

 

問３ evidence  3   

 

①  証拠     ②  科学      ③  飲料水   ④  左のどれでもない  

 

問４ avoid  4   

 

①  炒める    ②  ゆでる     ③  焼く    ④  左のどれでもない  

 

問５ consume  5   

 

①  衣装を着る  ②  消費する    ③  供給する  ④  左のどれでもない  

 

問６ attention  6   

 

①  機嫌     ②  注意      ③  試行    ④  左のどれでもない  

 

問７ feature  7   

 

①  占い     ②  未来      ③  特徴    ④  左のどれでもない  

 

問８ restore  8   

 

①  修復する   ②  入荷する    ③  陳列する  ④  左のどれでもない  

 

問９ profit  9   

 

①  楽      ②  技       ③  損     ④  左のどれでもない  

 

問１０ achieve  10   

 

①  達成する   ②  目標を立てる  ③  建てる   ④  左のどれでもない  
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問題Ⅱ 次の問１～５において、各文の内容に最もふさわしいものを①～④の中から一つずつ

選べ。解答番号は   11  ～   15   

 

 

問１ This is a kind of animal whose colors are black and white. It lives in forests and eats bamboo. 

What is it? 
 

 11   

 

①  zebra  ②  cow  ③  panda ④  whale 

 

 

問２ It is a set of stairs that moves up or down. It is powered by electricity. We can often see it in 

airports and stations. What is it? 
 

 12   

 

①  slope  ②  escalator ③  elevator ④  ladder 

 

 

問３ This is a kind of musical instrument. It looks like a tube with holes. We blow in it to make 

sounds. What is it? 
 

 13   

 

①  piano  ②  drum  ③  flute  ④  guitar 

 

 

問４ This is a piece of clothing that you wear on your head to keep warm in winter. What is it?  

 14   

 

①  cap  ②  glove ③  coat  ④  sweater 

 

 

問５ This is a sport where you hit a ball over a net. We use rackets to play it. The net is not on a 

table, but on a ground. What is this sport?  
 

 15   

 

①  tennis  ②  volleyball ③  table tennis ④  badminton 
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問題Ⅲ 次の問１～１０において、各文の空欄に入れるのに最も適切なものを①～④の中から

一つずつ選べ。解答番号は   16  ～   25   

 

 

問１ I changed  16  at Tokyo Station. 

 

①  trains   ②  a train 

③  train          ④  the train 

 

 

問２ I would  17  stay home than go on a trip. 

 

①  even          ②  rather 

③  worse         ④  better 

 

 

問３ The man asked  18  to the library. 

 

①  how far it was  ②  how far was it 

③  how it was far   ④  it was how far 

 

 

問４  19  I see the boy, he seems happy.  

 

①  For a time  ②  This time 

③  All time  ④  Every time 

 

 

問５ I went to Okinawa,  20  as warm as I had expected.  

 

①  which it wasn’t  ②  where it wasn’t 

③  which wasn’t it  ④  where wasn’t 

 

 

問６ Mary is so shy that she cannot talk to  21  in her class. 

 

①  anyone  ②  all 

③  nobody  ④  no one 

 

 

問７   Everyone knows that the sun  22  in the west. 

 

①  rises   ②  rise 

③  sets   ④  set 

 

 

 

 

 



- 4 - 

問８   English is the primary language  23  in the USA. 

 

①  spoken  ②  to speak 

③  speaking  ④  is spoken 

 

 

問９   Don’t speak ill of  24 . 

 

①  other   ②  oneself 

③  others   ④  the another 

 

 

問１０ John is the  25  man to break a promise. 

 

①  never   ②  last 

③  generous  ④  secret 
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問題Ⅳ 次の問１～５において、ＡとＢの会話が成り立つように、空欄に入れるのに最も適 

切なものを①～④の中から一つずつ選べ。解答番号は   26  ～   30   

 

 

問１ Ａ： Which song do you like the best on this album?  

      Ｂ：  26  I listen to it every day.  

      Ａ： I see.  

 

①  I can play the guitar. 

②  I always go there.  

③  They look good. 

④  The third one is great. 

 

問２ Ａ： Our hotel is 20 minutes from this station.  

Ｂ：  27   

Ａ： The blue line. It stops in front of the hotel.  

 

①  How much is it? 

②  Which line should we take? 

③  How many nights? 

④  What time will we get there? 

 

問３ Ａ： Let’s email the photos to Grandma.  

      Ｂ： I don’t know how to do that.  

      Ａ：  28   

 

①  It’s over there.  

②  This photo is good.  

③  She learns it.  

④  I’ll show you. 

 

問４ Ａ： I’m going to order this curry. How about you?  

Ｂ：  29   

Ａ： OK, let’s take a seat! 

 

①  I hope you’re fine.  

②  My mother likes fish. 

③  I’ll have the same. 

④  I went to the restaurant.  

 

問５ Ａ： We missed the bus! When’s the next one? 

      Ｂ：  30   

      Ａ： Oh dear, we’ll just have to wait for it.  

 

①  It’ll arrive in 15 minutes.  

②  I’ve lost my ticket.  

③  I went by taxi.  

④  That’ll be $12.  
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問題Ⅴ 次の問１～５において、与えられた語句を並べ替えて正しい英文を完成させる時、 

３番目と５番目に来る語句を①～⑥の中から一つずつ選べ。ただし、（   ）内の語

句は、文頭に来る場合も小文字になっている。解答番号は   31  ～   40   

 

 

問１ アルフレッドは、クラブ活動に熱心に取り組んでいる。  

（  ①  to   ②  Alfred   ③  is   ④  his   ⑤  club activities   ⑥  committed ） . 

 

            31          32       . 

 

 

問２ 物価上昇問題を政府が解決するのは難しい。  

The problem of（  ①  is   ②  the government   ③  the increasing cost of living 

④  to solve   ⑤  for   ⑥  difficult ） . 

 

The problem of             33          34       . 

 

 

問３ 彼女の好きな歌を教えてくれませんか？  

（  ①  tell   ②  you   ③  a song   ④  could   ⑤  likes   ⑥  she ）? 

 

            35          36       ? 

 

 

問４ レスターはリチャード３世の骨が見つかったことで有名になった。  

（  ①  became   ②  Leicester   ③  the discovery   ④  famous   ⑤  for   ⑥  of ）King  

Richard III’s bones.  

 

            37          38        King Richard III’s bones.  

 

 

問５ ウサギは後足の筋肉によって、高く跳ぶことができる。  

（  ①  it   ②  a rabbit’s rear legs   ③  the muscles   ④  to   ⑤  of   ⑥  enable ）jump  

high. 

 

            39          40        jump high.  
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問題Ⅵ 次の文章の各空欄に入るべき語を下の①～⑧の中から選べ。ただし、それぞれ一度 

のみ使うものとする。解答番号は   41  ～   45   

 

 

In a famous experiment, people are asked to watch a video and count the number of times that 

basketballs are passed from one person to another. Half of the viewers do not see a gorilla that 

appears and walks slowly across the screen.  Although their eyes see the gorilla and their brains  

 41  the image, the viewers do not have any memory of the gorilla. Researchers believe the 

brain ignores the gorilla because it is not expected to be seen and its appearance is not helpful in 

completing the basketball-counting task.  

A group of scientists who study  42  the brain understands sounds wondered if the brain 

could also ignore obvious sounds that are not expected to be heard and not helpful in completing 

a task. To prepare for their experiment, they recorded two conversations. In one, two men talk 

with each other as they prepare food for a party. In the other conversation, two women talk as 

they wrap gifts for the same party. The test subjects were told to follow either the men’s 

conversation or the women’s. They wore headphones and lis tened to the conversations, which 

were played at the same time. In the middle of the conversations a different, male voice said, 

“I’m a gorilla” sixteen times.  

After listening to the conversations, the volunteers answered questions about the one they had 

followed. When asked if they heard any strange statements, almost none of those who followed 

the  43  conversation heard the phrase “I’m a gorilla.” As for those who followed the   

 44  conversations, two out of three heard the phrase. Since this group paid attention to the 

male voices, it is not surprising that they were more likely to hear the gorilla statement. Even so, 

the study results add to the evidence that concentrating on a task may   45  us to miss 

strange things that are happening around us.  

 

出典：Takeuchi, O., et al. (2013). Reading Stream: Elementary. Kinseido. 一部改変  

 

 

① cause 

② receive 

③ ignore 

④ break 

⑤ how 

⑥ which 

⑦ men’s 

⑧ women’s 
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問題は次のページに続きます。  
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問題Ⅶ 次の文章について設問に答えよ。解答番号は   46  ～   52   

 

 

Today, the phrase ‘the pirates of the Caribbean’ 1 is widely known because of the film series, 

Pirates of the Caribbean, Disney theme park attractions of the same name, and so on. While an 

act of ‘piracy’, which means attacking and robbing ships of their goods at sea, dates back 

several thousand, today’s image of piracy comes from the sea gangs of the Caribbean, called 

‘pirates’, in the late 16th and early 17th centuries. [ A ] Perhaps the most famous pirate was 

Francis Drake. He came from England.  Interestingly, this Caribbean pirate is the man who may 

have laid the foundations of the British Empire and modern British society. Francis Drake may 

be more important than the Queen of England regarding the development of technology and 

globalization.  

In the late 16th century, after Columbus arrived in the Americas 2, the Caribbean Sea was 

important for European countries, particularly Spain and Portugal, the most powerful nations in 

Europe with colonies across the world. Ships with traders and cargoes sailed from Europe in 

order to trade with the colonies in the Americas. [ B ] However, these ships were often 

attacked by pirate ships from England. At the time, England  49  than it is today. Queen 

Elizabeth I of England had granted permission and funded pirate ships to catch the Spanish and 

Portuguese ships. Francis Drake received the Queen’s permission in the 1570s. Then, he stole a 

lot of gold and treasure from the Spanish ships in the Caribbean. [ C ] He brought back a 

large amount of money to the Queen and, more importantly, held the entire trade across the 

globe. Surprisingly, in 1581, Queen Elizabeth knighted 3 Francis Drake for his piracy because 

England had dominated the European trade and won against its rival, Spain.  

The wealth brought by Francis Drake and his piracy was used to establish the East India 

Company of England. During the 17th, 18th and 19th centuries, the East India Company traded 

across many parts of the world, including Asia, South-East Asia and India. In 1613, it opened a 

trading post in Hirado, Japan, and it continued its business there until the beginning of Japan’s 

national isolation. [ D ] The British East India Company exported tea and cotton textiles 4 

from India and other Asian countries to Europe, earning huge profits. These profits increased 

Britain’s economic and military power, leading to the world’s first industrial revolution in the 

late 18th century.  

The exciting but fictionalized5 image of ‘pirates’ you see, at present, in Disneyland, in movies 

and in manga is derived from6 people who attacked other ships and stole goods in the late 16th 

and early 17th century. Caribbean pirates were real people; not creations of fantasy. They have 

their own history. Today’s globalization and technological development partly, and dramatically, 

result from the dishonest and destructive conduct of pirates in the past.   

 

注： 1 the pirates of the Caribbean：映画作品等に登場する俗称「カリブの海賊」全般のこと。  

 pirate は「海賊」。  

2 the Americas：アメリカ大陸  3 knight：ナイトの爵位を授ける  

4 textile：織物  5 fictionalize：～を脚色する  

6 be derived from：～から派生する  
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問１ 次の英文を読み、本文の内容に合っていれば  ①  True 、間違っていれば  ②  False を

選べ。解答番号は   46  ～   48   

 

１． In the late 16th and early 17th centuries, pirates violently stole gold and treasure from  

other ships in the Caribbean.  46   
 

２．Spain won the battle with America in the late 16th century.   47   
 

３．The East India Company of England brought huge profits to the pirates from England.  

 48   

 

 

問２  49  に入るべき最も適切な表現を下の①～④の中から一つ選べ。  

 

① was less powerful 

② was more powerful 

③ was more technologically developed 

④ was more delicious 

 

 

問３ 本文最終行の  destructive と最も近い意味の表現を下の①～④の中から一つ選べ。解

答番号は   50   

 

① being honest 

② conducting rightly 

③ causing damage 

④ destroying dangerous old buildings  

 

 

問４ 次の文は  [ A ]、[ B ]、[ C ]、[ D ] のいずれかに入る。最もふさわしい箇

所を①～④の中から一つ選べ。解答番号は   51   

 

They conducted ‘piracy’ across the Caribbean, including present -day Cuba, Dominica, 

and Jamaica. 
 

①  [ A ] 

②  [ B ] 

③  [ C ] 

④  [ D ] 

 

 

問５ この文章の主題として最も適切なものを下の①～④の中から一つ選べ。  

解答番号は   52   

 

① An interesting history of pirate ships from the Caribbean Sea 

② The complete history of Britain 

③ A story about a handsome pirate in Disney movies  

④ How a pirate may have laid the foundations for Britain  
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問題Ⅷ 次の問１～５において、下線部の日本語を英語で表現して、文を完成させよ。  

解答は   記述式解答用紙   

 
 

問１ 今夜、あなたは外出しないほうがよい。  

You                 tonight. 

 

 

問２ 駅前のレストランは美味しい料理を出す。  

                in front of the station.  

 

 

問３ 彼女は自分の夢について書くことを楽しんでいる。  

She             . 

 

 

問４ 私は、明日のプレゼンテーションのタイトルをまだ決めていません。  

                of tomorrow’s presentation.  

 

 

問５ 彼女はどうしてあんなに怒っているのだろう。  

I              . 



2024(令和6)年度　金沢学院大学・金沢学院短期大学

一般選抜Ⅰ期（２日目／2024年2月1日実施）

解答例【マーク式】

英語

解答番号 正解 配点 解答番号 正解 配点

1 ② 1 26 ④ 2

2 ③ 1 27 ② 2

3 ① 1 28 ④ 2

4 ④ 1 29 ③ 2

5 ② 1 30 ① 2

6 ② 1 31 ⑥

7 ③ 1 32 ④

8 ① 1 33 ⑥

9 ④ 1 34 ②

10 ① 1 35 ①

11 ③ 2 36 ⑥

12 ② 2 37 ④

13 ③ 2 38 ③

14 ① 2 39 ②

15 ① 2 40 ①

16 ① 2 41 ② 2

17 ② 2 42 ⑤ 2

18 ① 2 43 ⑧ 2

19 ④ 2 44 ⑦ 2

20 ② 2 45 ① 2

21 ① 2 46 ① 1

22 ③ 2 47 ② 1

23 ① 2 48 ② 1

24 ③ 2 49 ① 3

25 ② 2 50 ③ 3

51 ① 3

52 ④ 3

マーク 85

記述 15

計 100

問題Ⅲ

問題Ⅵ

問題Ⅶ

問題Ⅰ

問題Ⅳ

問題Ⅴ

2

2

2

問題Ⅱ
2

2



 2024 年 2 月 1 日(木)  

 

2024(令和 6)年度 一般選抜Ⅰ期 ＜２日目＞ 

記述式解答用紙 「英語」 

 

受験番号  氏  名  

志望学科 学科 専  攻 専攻 

※専攻欄は「文学科」「教育学科」受験の場合に記入してください。 

 

 

 

問題Ⅷ  はっきりと読みやすい字で書くこと。 

また、下線部に入る英語表現のみを記入すること。 配点 各    点 

 

問１ should not go out 

問２ They serve good food at the restaurant 

問３ enjoys writing about her dreams 

問４ I have not decided the title 

問５ wonder why she is so angry 

 

解答例 

３ 


